Here we will find the mesh current in each mesh.
We are looking at the Lucky 7’s circuit.

We have three current sources, so we only have to write 4-3 = 1 mesh equation for the circuit.

Each current source is in a shared mesh. So we’ll use one supermesh.

First define four standard mesh currents.

Write down how each current source relates the mesh currents.

Add the mesh currents moving through each source and equate them to the source’s value.

If a mesh current is in the same direction of the source, it gets a positive sign.

If it’s in the opposite direction, it will be positive.

Write a Kirchhoff’s voltage law (KVL) equation beginning in the lower left corner.

The voltage across each resistor is the resistor’s value * the current flowing through it.

Our supermesh goes around the outside of the circuit. Do not try to include the current sources in the KVL equation.

Set the sum of voltages equal to zero.

Write the system of equations as a matrix.

We have two instances of I2 and I3 in the first equation, so their coefficients are 14.

Put the matrix through a matrix solver to find the unknown mesh currents.

You can redraw I1 and I3 to make them positive, if you wish.

